
ANSWER on Question #80062 – Math – Algebra 

QUESTION 

Find the period of the function 

𝑓(𝑥) = 𝑥 + 3 

SOLUTION 

By the definition, the period of the function is 

∃𝑃 ≠ 0 ∶ 𝑓(𝑥 + 𝑃) = 𝑓(𝑥) 

( More information: https://en.wikipedia.org/wiki/Periodic_function ) 

In our case, 

𝑓(𝑥) = 𝑥 + 3 → 𝑓(𝑥 + 𝑃) = (𝑥 + 𝑃) + 3 → 

{

𝑓(𝑥) = 𝑥 + 3

𝑓(𝑥 + 𝑃) = 𝑥 + 𝑃 + 3

𝑓(𝑥) = 𝑓(𝑥 + 𝑃)
→ 𝑥 + 3 = 𝑥 + 𝑃 + 3 → 𝑃 = 𝑥 + 3 − 𝑥 − 3 → 𝑃 = 0  

Conclusion, 

𝑓(𝑥) = 𝑥 + 3 𝑖𝑠 𝑛𝑜𝑛 − 𝑝𝑒𝑟𝑖𝑜𝑑𝑖𝑐 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛  

ANSWER 

𝑓(𝑥) = 𝑥 + 3 𝑖𝑠 𝑛𝑜𝑛 − 𝑝𝑒𝑟𝑖𝑜𝑑𝑖𝑐 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛 
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